Wisconsin Tribal Conservation Advisory Council Meeting Minutes Tuesday, May 19, 2009 Bad River

Meeting called to order at 9:20 am by Jonathan Pyatskowit.

1. Roll Call

Present: Bad River (Pam Roberts), FCPC (Nate Guldan), LCO (Brett McConnell), Menominee (Jonathan Pyatskowit), Red Cliff (Tracey Ledder), Stockbridge-Munsee (Luke Hennigan)

Others Present: Jerry Thompson (Earth Team Volunteer), Sherrie Zenk-Reed (NRCS), Tony Bush (NRCS), Greg Yakle (NRCS), Tom Fredrickson (NRCS), Mike Koehler (NRCS), JoAnn Cruse (APHIS), Keith Sengbusch (NRCS), Julie Malvitz (NRCS), Tom Cogger (NRCS), Jim Thannum (GLIFWC), Pat Leavenworth (NRCS), Dr. Tim Deveau (APHIS)

2. Approval of Minutes

MOTION: Motion to approve April 9, 2009 meeting minutes. Motion by Stockbridge-Munsee, seconded by Red Cliff. All ayes, zero opposed, motion carried.

3. NRCS Update

Pat Leavenworth gave the update for NRCS. They are still in the process of the new administration coming in. The new deputy secretary is Kathleen Merrigan. She was a professor at Tufts University – background is in importance of agriculture and local eating. She also has an extensive background in organic food production. Homer Wilkes was selected as the Undersecretary for Natural Resources. He was the state conservationist for Mississippi and is the first undersecretary not to come from a forestry background. Pearly Reed, who was once NRCS Chief, is returning to administration in USDA. The new NRCS Chief is Dave White – had a video conference recently where he set forward his initiatives. Pat Leavenworth is looking forward to working with him. In Wisconsin, NRCS is moving to fill critical vacancies; they are still receiving funds and are getting stimulus dollars to acquire flood plain easements. They submitted \$20 million in requests. NRCS is also looking to secure help for the tribes with special administrative agreements.

She indicated that the AIANEA conference is a good place to showcase ourselves and she is very proud of what we have done. The progress we have made is quite remarkable in tribal participation since the formation of WTCAC. Her peers need to see what we are doing here in Wisconsin. She is looking forward to showing off what we have accomplished.

Secretary Vilsack put out some priorities – biofuels (NRCS will be supporting), climate change, clean air/clean water, and quality wildlife habitat. He is also looking to quickly implement the 2008 Farm Bill.

Great Lakes Restoration Initiative - \$475 million for this directive through US EPA. NRCS is receiving about \$33 million in these funds to supplement the existing programs – this will be in 2010.

They have come forth with a change in the definition for socially disadvantaged. Membership in a socially disadvantaged entity needs to be held at 50% by socially disadvantaged individuals.

Pat handed out a few of the finished brochures; we will get the rest on June 2nd in Madison. They look awesome!

4. EQIP/WHIP Projects

Tony handed out EQIP project details (attached).

Tribal EQIP Projects:

Menominee: Forest Stand Improvement (Corrective Pruning and Crop Tree Pruning) and Tree/Shrub Establishment. The total funding request was \$82,327.56.

Lac du Flambeau: Fence around strawberry farm and a crop tree release. The total funding request was \$45,778.54.

FCPC: 2 access roads and a stream crossing. The total funding request was \$83, 974.70.

Mole Lake: Pest Management on Rice Lake for aquatic invasive species and Brush Management. The total funding request was \$94,800.

LCO: Five crop tree release projects and 1 pruning project. The total funding request was \$31,860.

Oneida: Three tree establishments, closure of waste impoundment, stream crossing, and field border for a total of 6 projects. The total funding request was \$43,444.32.

Ho-Chunk: Forest trails and landings, forest stand improvement, pasture and hayland planting, streambank protection, brush management, tree establishment, and 2 access roads. The total funding request was \$54,442.93.

The total EQIP funding request was \$436,628.05 which means \$3,371.95 will be returned.

MOTION: Motion to approve all 2010 EQIP projects for a total of \$436,628.95. Motion by Red Cliff, seconded by Stockbridge-Munsee. All ayes, zero opposed, motion carried

Tom Cogger handed out WHIP project details (attached).

LCO: 8 acres of wild rice reseeding. The total funding request was \$5,880.

Lac du Flambeau: Firebreak of 23,000 feet around Powell Marsh Area, wood duck nesting boxes in same area, and a 6 acre prescribed burn on a little island. The total funding request was \$2,018.52.

Oneida: Logjams on Lancaster Brook (250 feet) to improve coldwater habitat for trout and wood turtles. The total funding request was \$1,162.50.

St. Croix: 31 wood duck boxes. The total funding request was \$1,116.

Stockbridge-Munsee: Prescribed burn on 59 acre. The total funding request was \$5,900.

The total WHIP funding request was \$16,077.02 which means \$38,922.98 will be returned.

MOTION: Motion to approve all 2010 WHIP projects for a total of \$16,077.02. Motion by FCPC, seconded by LCO. All ayes, zero opposed, motion carried

5. APHIS Update

Dr. Tim Deveau gave an update. APHIS is currently working on an agreement with GLIFWC for VHS testing through 2009. They are also working on a proposal to increase swine monitoring for H1N1 influenza. A swine herd in Canada was found to be positive and it is thought that a worker gave the pigs H1N1. There are a very high percentage of Hispanic workers on farms in Wisconsin that have ties to Mexico and may have come in contact with someone that has been to Mexico recently. They are surveying swine in slaughter plants and then if H1N1 is found they will trace it back to the farm of origin.

They are trying to start up the Ag-Discovery program here in Wisconsin. It is a program geared to increase the interest of youth (age 14-17) in agriculture.

Wildlife services has sampled for avian influenza. In 2008, 1600 birds sampled and nothing was found.

An equine disease, contagious equine metritis, was found in the past year in a stallion. Since the discovery, over 45 states have been involved and 500 plus horses have been exposed. There have been 7 positives in Wisconsin. Currently there are 170 horses under quarantine in Wisconsin. No Tribal horses have been involved. A variety of breeds are affected and the disease is spread venereally and mechanically. They are looking at any horse that was at the breeding facility 7 days before or after the sick stallion was there. This disease does not show up readily in the animal, it does not cause death. The biggest concern is that is puts up trade barriers to breed these horses in other countries. The disease does not affect other species and is not a public health concern. There is some reproductive loss and abortion.

Last year they held dog and cat vaccination clinics on Reservations throughout the state and they were very successful. The Tribe purchases the vaccine and they donate their time for vaccination. The vaccinations are for rabies and parvo. If you are interested in setting up a vaccination clinic, please contact Dr. Deveau at (715) 536-4534 or at timothy.p.deveau@aphis.usda.gov.

JoAnn Cruse brought the EAB traps. This is national EAB awareness week. There was a 2nd EAB find in Victory, Wisconsin just south of La Crosse. They figure there are small scattered infestations in Wisconsin, but they have not yet found anymore. Some of the trees at the La Crosse site died in 2007 already. In Victory all ash trees will be dead in the next couple of years, just across the Mississippi River from Iowa. The railroad sprayed the right away which is a stressor for ash trees which act as great host trees for EAB. It is probably following the railroad. Also, many trees have gone down river in floods and storms over the last couple of years so it may have been spread downstream as well. Vernon and Crawford Counties were both quarantined and Houston County, Minnesota was also quarantined (just across the river). There are Ho-Chunk lands in Houston County, Minnesota. 80% of the wood harvested in those counties leaves the counties. 8000 traps going up in Wisconsin this year. Also, late last week EAB was found in St. Paul, Minnesota by a tree service company and there has also been a find in central Pennsylvania that was called in by a homeowner. Wisconsin is included in biological assessment for biological control of EAB.

Gypsy moth quarantine enlarged this year to include Monroe County, Iron County, and the Apostle Islands.

APHIS has biocontrol available for spotted knapweed and can get Tribes the insects so they do not have to buy them.

6. Technical Recommendations

We need to get all recommendations to Pat Leavenworth a week before the public meeting on June 2. Please email everything to Nate by noon on Tuesday, May 26 and he will send it to Pat.

The following is list of technical recommendations we would like to make and the person responsible for pulling the information together.

- 1) Beaver dam obstruction removal Brett McConnell
- 2) Logging road reseed project Brett McConnell
- 3) Shoreline heavy use protection Nate Guldan
- 4) Pest Management for forest woodlands (gypsy moth) Greg Blackdeer
- 5) Get prescribed burning on the EQIP docket as pest management Greg Blackdeer
- 6) Water control structure and dike Bob Frank
- 7) Pipeline Standard Scenario (516) Luke Hennigan (Irrigation Subcommittee)
- 8) Microirrigation Standard (441) Luke Hennigan (Irrigation Subcommittee)
- 9) Well Standard (642) Luke Hennigan (Irrigation Subcommittee)

- 10) Irrigation System Sprinkler (442) Luke Hennigan (Irrigation Subcommittee)
- 11) High Pressure Underground Plastic Pipe (430DD) Luke Hennigan (Irrigation Subcommittee)
- 12) Low Pressure Underground Plastic Pipe (430EE) Luke Hennigan (Irrigation Subcommittee)
- 13) Pumping Plant (533) Luke Hennigan (Irrigation Subcommittee)
- 14) Pest Management (595) Tony Kuchma

The following general recommendations will also be made

- 1) Recommend that fish passage be included in EQIP as well as WHIP
- 2) Recommend that there be 2 separate EQIP and WHIP dockets, one for the state and one for Tribes

7. AIANEA Conference

We still need an invoice to get the money it them for our conference sponsorship. Jerry handed out the latest agenda (attached). If anyone is attending training sessions, please get the information to Jerry so he can set up registration. Everyone (WTCAC members included) need to register with Jerry by the end of June. Our sessions are currently scheduled from 11am – 12am on Tuesday, July 14 and 8am – 8:45am on Wednesday, July 15. Jerry is pulling together the PowerPoint for us. The WTCAC brochure will be included in all registration packets. If the Tribes want to put anything in the registration packets, send it to Tony Bush.

8. Interns

Students are starting work on June 8. Jerry gave a WTCAC brochure out to them during orientation. They are required to attend the WTCAC meetings and introduce themselves at the first one they come to. They are also required to give updates at each WTCAC meeting on what they are working on and learning and they will be attending the AIANEA conference.

9. Congressional Testimony

Jonathan and Jim Thannum put together congressional testimony seeking an appropriation out of the FY2010 budget. The House and Senate are on recess over Memorial Day. June 8 they will be moving their appropriation bills through. We need to have Tribal leadership send letters to Senator Kohl and Representatives (Obey, Kagen, etc.) to show support for the WTCAC request. The letter should have a copy of the testimony and should indicate that the Tribe supports the request and indicates what WTCAC has done for the Tribal community.

Also, it was suggested that it would be a good idea to send a letter to Pearly Reed with the brochure to say thank you for helping get WTCAC started and emphasize our success (Jonathan will do this). This provides a national model that he may be able to use. Pat Leavenworth will give us a list of administration officials to send letter, brochure, and introductions.

10. Financial Report

Brett handed out travel checks that cover Jan – April 2. He paid for the brochures (\$3,125) and will fill out an SF-270 for them. He is still waiting on an invoice for the AIANEA conference. Brett will fill out an SF-270 for the \$10,000 for AIANEA.

11. Small Projects

GLIFWC sent in a CD with everything listed in there work plan that was to be completed by the end of the last quarter and they are requesting their quarterly payment.

MOTION: Motion to approve quarterly payment to GLIFWC for their small project "GLIFWC Invasive Plant Risk Assessment/Prioritization Model" for \$7,270.25. Motion by Stockbridge-Munsee, seconded by LCO. All ayes, zero opposed, motion carried

Jonathan sent a certified letter to the Bad River Tribal Chairman requesting some action on their outstanding small project. He got the tag back saying it was received, however he has not heard from the Tribe.

The Ho-Chunk project, Cultural Resources Site Protection Practice Demonstration, was conditionally approved at the last meeting assuming the revised proposal would be acceptable to NRCS. Julie Malvitz indicated that the new proposal was acceptable.

MOTION: Motion to approve Ho-Chunk's Cultural Resources Site Protection Practice Demonstration Project for \$8,400. Motion by LCO, seconded by Red Cliff. All ayes, zero opposed, motion carried

12. Task List

Nate handed out the small project tracking sheet that he developed (attached). 26 small projects have been funded.

It was realized that the task list needed to be updated as many things on it were already completed. Nate will update it and send out to everyone to go through and make comments.

MOTION: Motion to adjourn. Motion by Red Cliff seconded by Stockbridge-Munsee. All ayes, zero opposed motion carried. Meeting adjourned at 2:51 pm.

AMERICAN INDIAN/ALASKA NATIVE EMPLOYEES ASSOCIATION FOR NRCS 2009 ANNUAL TRAINING CONFERENCE

Co-sponsored by the WISCONSIN TRIBAL CONSERVATION ADVISORY COUNCIL Hosted by THE ONEIDA TRIBE OF INDIANS OF WISCONSIN

Theme: Vision - "We Look in All Directions"

Green Bay, Wisconsin July 13-17, 2009

SATURDAY

77

Arrival/Conference Prep-Office/Registration

SUNDAY July 12

Prep Work

4:00 pm - 6:00 pm 7:00 pm - 9:00 pm

Afternoon

Poster Registration/Set-up

AIANEA Hospitality Suite

LOCATIONS

Room Plaza Club

MONDAY July 13 Concurrent Training Sessions

- Special Emphasis Program Manager Training
- NEDC Working Effectively with Tribes

7:00 am - 8:00 am 3:30 pm - 6:00 pm

Registration Registration

7:00 am - 9:00 am

Continental Breakfast

Special Emphasis Program Managers Training Monday, July 13, 2009 Room: Mohawk & Seneca

Trainers & Moderators: Carol Vallee Crouch, National American Indian/Alaska Native Emphasis Program Manager

8:00 - 8:30 AM

Welcome & Introductions

Carol Crouch

8:30 - 9:15 AM

CRD Overview

Joseph E. Hairston, Director, Civil Rights Division

9:15 - 10:00 AM

Roles and Responsibilities of

Carol Crouch, National AI/AN SEPM

the SEPM

10:00 - 10:15 AM

Break

10:15 - 10:20 AM	DN-714 Training (Handouts)	Carol Crouch, National AI/AN SEPM
10:20 - 11:45 AM	Developing a Business Plan and Budget and Reporting	Carol Crouch, National AI/AN EPM
11:30 - 12:30 PM	Lunch (on your own)	
12:30 - 2:30 PM	Barrier Determination	Carol Crouch, National AI/AN EPM
2:30 - 2:45 PM	Group Discussion Break	
2:45 - 3:45 PM	"Sharing our experiences" What is working successfully in your NRCS State?	Group Discussion
3:45 - 4:45 PM	STC Panel Discussion Questions & Answers on Issues and/or concerns as SEPM. Example: Importance of your role for STC goals? Recruitment	State Conservationists:
4:45 - 5:00 PM	Group Discussion	
7.73 - 3.00 [11]	Evaluations and Close out	Carol Crouch, National AI/AN EPM

CONCURRENT SESSION: WORKING EFFECTIVELY WITH TRIBES - DAY ONE

8:00 am - 5:00 pm		Room: Oneida & Tuscarora
Noon – 1:00 pm	LUNCH – on your own	
4:30 pm – 5:30 pm	Elder's Committee Meeting	
5:00 pm – 5:30 pm	Moderator Training	
5:45 pm – 7:15 pm	Drum Blessing, Greeting Circle, Round Dance Prayer by AIANEA Elder	
7:30 pm -8:30 pm	Michael Jacobs, Singer/Storyteller	
10:00 pm	Hospitality Suite	Plaza Club

TUESDAY July 14

7:00 am – 6:00 pm Registration

7:00 am - 9:00 am Continental Breakfast

CONCURRENT SESSION: WORKING EFFECTIVELY WITH TRIBES - DAY TWO

8:00 am - 5:00 pm Room: Oneida & Tuscarora

TUESDAY MORNING July 14

GENERAL SESSION Room: Iroquois
Moderator (for morning sessions): Jerry Thompson

8:00 am - 8:30 am Opening Ceremony

AIANEA Drum Group

Presentation of Colors - Navy Color Guard and Veterans

Prayer – AIANEA Elder – Pledge/National Anthem

8:30 am - 9:30 am

General Session I: Welcoming Remarks

David Wise, AIANEA President
Patricia Leavenworth, Wisconsin STC
(Contact: Renae Anderson)

Rick Hill, Oneida Nation Chairman

(Contact: Lisa Summers, Tony Bush, NRCS contact)

9:30 am - 10:00 am

General Session II: Special Remarks by the NRCS Chief

Chief of NRCS (Contact:

10:00 am - 11:00 am

AIANEA National Council Meeting with the Chief

10:00 am - 10:20 am

BREAK

Poster Viewing

Moderator (for late morning sessions): Jerry Thompson

10:20 am - 11:00 am

General Session III:

AIANEA Visioning Plan Speaker: Crystal Leonetti

(Contact: Sharron Santure)

11:00 am - Noon

General Session IV:

Wisconsin Tribal Conservation Advisory Council

"WTCAC history, organization, and working effectively with NRCS"

Speaker: Jonathon Pyatskowit, Nate Guldan, Brett McConnell, Jim Thannum,

(powerpoint of tribal activities pre- and post-USDA programs)

(Contact: Jerry Thompson)

Noon - 1:00 pm

LUNCH - on your own

TUESDAY AFTERNOON July 14

Moderator:

1:00 pm - 1:30 pm

General Session V:

USDA Tribal Consultation Guidance

Speaker: Edie Morigeau

(Contact: Jerry Thompson)

1:30 pm - 2:00 pm

General Session VI:

How new Farm Bill will impact Tribal Agriculture and Conservation Programs

Speaker: Anne Dubey

(Contact: Jerry Thompson)

2:00 pm - 3:15 pm

CONCURRENT SESSIONS

Workshops	Presentations		
Elder: Loretta Metoxen	Elder: Ted Herrera	Section 106 cultural resources responsibilities	Career Development IDP-Career Mapping
(classroom)	(classroom)	(classroom)	(room)
Moderator:	Moderator:	Speaker: Pat McLaughlin, CRS, MN	Speaker: Bill Hunt, STC MN and Ila Binard, SAO CO??
(Contact: Tanya)	(Contact: Tanya)	(Contact: Sharron Santure)	(Contact: Jerry Thompson)
	PowerPoint	Table and 2 mics	PowerPoint

3:15 pm - 3:30 pm

BREAK

Poster Viewing

3:45 pm - 5:00 pm

AIANEA BREAKOUT SESSIONS

lders' Presentations		
Elder: Billy Smith	Elder: Louis Dick	Elder: Leland Debe
(classroom)	(classroom)	(room)
Moderator:	Moderator:	Moderator:
100	(Contact:)	
(Contact:)		(Contact:)
	Table and 2 mics	
PowerPoint	8.	PowerPoint
	Elder: Billy Smith (classroom) Moderator: (Contact:)	Elder: Billy Smith (classroom) Moderator: (Contact:) Table and 2 mics

TUESDAY EVENING

July 14

5:30 pm - 6:30 pm

Social Hour - cash bar

AIANEA Drum Group

6:30 pm - 10:00 pm

BANQUET

Master of Ceremony:

Traditional Prayer by AIANEA Elder

Entertainment - Oneida Youth Singers/Dancers

Attire:

10:00 pm

AIANEA Hospitality Suite

Plaza Club

WEDNESDAY MORNING July 15

7:00 am - 6:00 pm

Registration

7:00 am - 9:00 am

Continental Breakfast

Moderator for early morning sessions:

7:50 am - 8:00 am

Drum Group/Prayer

Prayer: AIANEA Elder

8:15 am - 9:15 am

(meeting of Elders with Chief)

8:00 am - 8:45 am

General Session VII:

WTCAC Conservation Activities (Prelude to Conservation Tours) (Contact: Jerry Thompson)

8:45 am - 9:15 am

General Session VIII:

Samantha Lawien, "Native Tribes of Wisconsin, Past and

Present"

(Contact: Julie Malvitz)

9:15 am - 10:00 am

General Session IX:

Loretta Metoxen, (topic of choice)

10:00 am - 10:15 am

BREAK

Poster Viewing

Moderator for late morning session:

10:15 am - 11:15 am

General Session X:

NRCS Leadership Panel "Leadership Indian-Style"

(suggested panel: Roylene Rides-at-the-Door, Ivan Dozier, Noller Herbert,

Richard Vigil)

(Contact: Gena Kerzman)

11:15 am - Noon

BREAKOUT SESSIONS

Workshop: Minnesota Tribal Protocols for Section 106	Workshop: Tribal Liaison Networking Session	Workshop: Career Development –Detail Opportunities
Room	Room	Room
Moderator: Speakers: Pat McLaughlin, CRS,	Facilitator: Tanya Dederiksen	Moderator: Speaker: Joyce Swartzengruber
MN/David Wise, Tribal Liaison for Lk. Sup. Bands of Ojibwe	(Contact: Tanya)	and Gina Kerzman (Contact: Nels)
(Contact: Sharron)		

Noon - 1:15 pm

Awards Lunch

Moderator:

Prayer - by AIANEA Elder

AIANEA Awards - Awards Committee

1:15 pm - 3:00 pm

BREAKOUT SESSIONS (CONTINUED)

Workshop: INCA	Workshop: Tribal Liaison Training- Contracting in Indian Country	Workshop: Career Development – KSA Writing and Effective Interviewing
Room	Room	Room
Speakers: Dick Gooby (Contact: David)	Speakers: David Elliott, Martin Bales & Jerry Thompson	Moderator: Deborah Clairmont Speaker for KSAs: Roylene
	(Contact: Tanya)	Rides at the Door Speaker for Interviews: Don Haake (Contact: Sharron)

3:00 pm - 3:15 pm

BREAK

Poster Viewing

3:15 pm - 5:00 pm

General Session XI:

Elders Panel

5:10 pm

Silent Auction Closes (pick up your items during the Live Auction)

5:00 pm - 6:00 pm

Poster Break down

6:00 pm -?

Tribal Liaison Networking Session

7:00 pm - 9:00 pm

AIANEA Business Meeting

10:00 pm

AIANEA Hospitality Suite

Plaza Club

THURSDAY DAY (Them

(Theme: Tribal conservation)

July 16

7:45 am - 5:00 pm

TOURS

Meet in Lobby; buses depart at 8:00 am

TOUR A: Oncida Sites

Host-Tony Bush

TOUR B: Forestry practices/Menominee

Host-Sherrie Zenk-Reed

5:00 pm

Arrive at Hotel

5:00 pm - 6:00 pm

Poster Break down

7:00 pm - 10:00 pm

LIVE AUCTION

Appetizers with Cash Bar

Auctioneer:

10:00 pm

AIANEA Hospitality Suite

Plaza Club

FRIDAY MORNING July 17

7:00 am - 9:00 am

Continental Breakfast

Moderator for all sessions:

7:50 am - 8:00 am

Drum Group/Prayer

Prayer: AIANEA Elder

8:00 am - 9:00 am

Breakout Sessions

ler: Norman Lopez	T T T T T T T T T T T T T T T T T T T	
ici. Itol man Dopez	Elder: Jerry Wolfe	Elder: Joe Joaquin
assroom)	(classroom)	(classroom)
Moderator:	Moderator:	Moderator:
_		

9:00 am - 10:00 am

General Session XII:

NRCS Employee Associations President Remarks

(Contact: David Wise)

10:00 am - 10:30 am

General Session XIII:

INCA, Strengthening Tribal Conservation Districts

Speaker: Dick Gooby

(Contact: David Wise)

10:30 am - 11:00 am

Closing Remarks

Patricia Leavenworth, Wisconsin STC

(Contact: Renae Anderson)

David Wise, AIANEA President

11:00 am - 11:10am

Retiring: Drum Group and Colors

Prayer: AIANEA Elder

11:10 am

Travel Home

		Contact	Funding		Project Ack.		Final Payment
Project Name	Tribe	Person	Requeste	Earmark	Form	Final Report	Amount
Gitiganing Garden Restoration							
Project	Bad River	Luis Salas	\$15,000.00	2004	N/A		
Culvert Assessement and							
Remediation Project-Phase 1	Bad River	Pam Roberts	\$3,701.95	2005	Yes		
Graveyard Creek Brook Trout							
Behavior Study and Habitat							
Evaluation	Bad River	Ed Leoso	\$16,198.00	2005	Yes		
Culvert Assessement and							
Remediation Project-Phase 2	Bad River	Pam Roberts	\$19,800.00	2006	Yes		
Bug Lake Boat Landing							
Relocation Project	FCPC	Nate Guldan	\$20,000.00	2005	N/A	Received	\$17,455.00
Devil's Lake Gathering Area		Elizabeth	. ,	2004 &			. ,
Restoration	FCPC	Rogers	\$22,662.00	2006	Yes		
Invasive Plant Risk			, , , , , , , , , , , ,				
Assessment/Prioritization Model							
- Phase 1	GLIFWC	Jim Thannum	\$29,081.00	2005	N/A		
Invasive Plant Risk			. ,				
Assessment/Prioritization Model							
- Phase 2	GLIFWC	Jim Thannum	\$6,948.00	2006	N/A		
			. ,				
Tribal Well Abandonment	Ho-Chunk	Randy Poelma	\$15,000.00	2004	N/A	Received	\$15,000.00
Cultural Resources Site							
Protection Practice		Greg					
Demonstration	Ho-Chunk	Blackdeer	\$8,400.00	2006			
	Lac du		. ,				
Gitigaan Community Garden	Flambeau	Ethan Sennett	\$8,825.00	2004	N/A	Received	\$8,825.00
,	Lac du	Larry	. ,				
Powell Marsh Survey	Flambeau	Wawronowicz	\$14,760.00	2006			
Logging Road Re-seeding/		Brett	. ,				
Erosion Control Project	LCO	McConnell	\$15,000.00	2005	N/A	Received	\$15,000.00
Deep Water Habitat		Brett	,				. ,
Enhancement	LCO	McConnell	\$14,699.00	2005	Yes		
Zoar Traditional Cemetery		Jonathan	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
Clean-up	Menominee		\$9,000.00	2004	N/A	Received	\$9,000.00

		Contact	Funding		Project Ack.		Final Payment
Project Name	Tribe	Person	Requeste	Earmark	Form	Final Report	Amount
Terrestrial Invasive Species							
Assessment	Mole Lake	Joshua Grimm	\$3,775.00	2005	N/A		
		Roman					
Logan Creek Bridge Project	Mole Lake	Ferdinand	\$15,000.00	2005	N/A		
Large Size Culvert Placement -		Roman					
Cost Recommendation	Mole Lake	Ferdinand	\$25,000.00	2006	Yes		
Cost Determination for							
Phragmites australis and Garlic							
Mustard (Alliaria petiolata)							
Control	Oneida	Tony Kuchma	\$29,499.00	2005	N/A		
Oneida Sugar Camp &							
Community Cordwood Bldg	Oneida	Laura Manthe	\$15,000.00	2005	N/A		
Mino Bi Ma De Se Win							
Community Farm	Red Cliff	Jean Buffalo	\$13,809.00	2004	N/A	Received	\$15,000.00
Wild Rice Habitat Assessment							
Project	Red Cliff	Tracey Ledder	\$8,500.00	2006	Yes		
Regional Wild Rice Assessment	St. Croix	Beth Greiff	\$8,000.00	2004	N/A	Received	\$8,000.00
D	0. 0 .	5 4 6 4	.				
Regional Wild Rice Assessment	St. Croix	Beth Greiff	\$10,559.42		N/A	Received	\$10,559.42
Intensive Survey of St. Croix		_		2004 &			
Rice Lakes	St. Croix	Katie Stariha	\$19,715.20	2005	Yes		
	Stockbridge-						
Herman Pond Access Road	Munsee	Hennigan	\$15,000.00	2004	N/A	Received	\$5,516.03

Wisconsin Tribal Conservation Advisory Council

WHIP FY 2009 Summary Final Approved by WTCAC 19 May 2009

Tribe		Funds Available	Funds Requested	Ranking Score
Bad River Band of Lake Superior Chippewas		\$5,000.00	\$0.00	
No Projects Planned for FY 2009				
Forest County Potawatomi Community		\$5,000.00	\$0.00	
No Projects Planned for FY 2009				
Ho-Chunk Nation		\$5,000.00	\$0.00	
No Projects Planned for FY 2009				
Lac Coute Oreilles Band of Lake Superior Chippewa	ıs	\$5,000.00	\$5,880.00	8.00
Wetland Habitat Management- 644: Wildrice Seeding				
8 ac. @\$735/ac= \$5,880				
Lac Du Flambeau Band of Lake Superior Chippewas	5	\$5,000.00	\$2,018.52	55.97
Firebreak-394: 20,278ft. @ \$.04/ft= 2,474ft. @ \$.10/ft= Wetland Habitat Management- 644: Wood Duck Nesting Boxes 10 boxes @ \$36/box= Prescribed Burning-338: 6 ac @ \$100/ac= Subtotal	\$811.12 \$247.40 \$360.00 \$600.00 \$2,018.52			

Menominee Indian Tribe of Wisconsin	\$5,000.00	\$0.00	
No Projects Planned for FY 2009			
Oneida Nation	\$5,000.00	\$1,162.50	32.73
Stream Habitat Improvement & Mgt395:			
Lancaster Brook Wood Structures 250ft. @ \$4.65/ft= 1,162.50			
Red Cliff Band Of Lake Superior Chippewas	\$5,000.00	\$0.00	
No Projects Planned for FY 2009			
St. Croix Chippewa Indians of Wisconsin	\$5,000.00		
Wetland Habitat Management- 644: Wood Duck Nesting Boxes		\$1,116.00	5.33
31 boxes @ \$36/box= \$1,116.00			
Sokaogon Chippewa Community	\$5,000.00	\$0.00	
No Projects Planned for FY 2009			
Stockbridge- Munsee Community	\$5,000.00	\$5,900.00	38.18
Prescribed Burning-338: \$5,900			
59 ac @ \$100/ ac= \$5,900			
Great Lakes Indian Fish and Wildlife Commission		\$0.00	
No Projects Planned for FY 2009			

Total \$55,000.00 **\$16,077.02**

Total of Funds Requested \$16,077.02
Balance of Unused Funds \$38,922.98

2009 Tribal EQIP Applications

updated 4/8/09

						EQIP	EQIP	Funding				
			Practice			Funding/	Practice	Project		Comp	leted	WTCAC
Tribal Nation	Project Title	Name	Scenario	Qty	Units	Unit (\$)	(\$)	(\$)	Score	I&E	App	Approved
	Corrective Pruning	666-Forest Stand Improvement	<20 years old	116	ac	60.00	6,960.00	6,960.00	44.27	n/a	X	
Menominee	Crop Tree Pruning	666-Forest Stand Improvement	<20 years old	55	ac	60.00	3,300.00	3,300.00	44.27	n/a	x	
	Crop Tree Truning	000-Porest Stand Improvement	>20 years old	33	ac	120.00	3,960.00	3,960.00		n/a	Λ	
	Conversion Project III	612-Tree/Shrub Establishment	Hand planting HW/SW	123	ac	553.72	68,107.56	68,107.56	53.65	n/a	X	
								82,327.56				
Lac du Flambeau		Fence	high tensile	3321	ft	1.74	5,778.54	5,778.54	100.90	X	X	
		Forest Stand Improvement	Crop Tree Release	400	ac	100.00	40,000.00	40,000.00	100.50	n/a		
								45,778.54				
					1				ı			_
		Stream Crossing - Deer Creek	culvert > 25" single	30	ft	74.63	2,238.90	2,238.90		X		
Forest County		Streambank Prot Deer Creek	riprap, full < 7'	30	ft	36.66	1,099.80	1,099.80	79.55	X	х	
Potawatomi		Access Road - Deer Creek	rock - option C&D	6500	ft	10.61	68,965.00	68,965.00		X		
		Access Road - Cloud Lake	rock - option C&D	1100	ft	10.61	11,671.00	11,671.00		X		
								83,974.70				
	1	1			1	ı			1	T		
Sokaogon		Pest Management - Rice Lake	aquatic invasives	77	ac	1200.00	92,400.00	92,400.00	91.22	n/a	X	
Chippewa		Brush Management	medium	15	ac	160.00	2,400.00	2,400.00		n/a		
								94,800.00				
	1				1				ı			1
Lac Courte		Forest Stand Improvement	crop tree release	279	ac.	100.00	27,900.00	27,900.00	33.27	n/a	x	
Oreilles		Forest Stand Improvement	pruning to12'	66	ac.	60.00	3,960.00	3,960.00		n/a		<u> </u>
								31,860.00				

2009 Tribal EQIP Applications

updated 4/8/09

						EQIP	EQIP Funding					
	Practice					Funding/	Practice	Project		Completed		WTCAC
Tribal Nation	Project Title	Name	Scenario	Qty	Units	Unit (\$)	(\$)	(\$)	Score	I&E	App	Approved
Oneida	Outagamie County	Closure of Waste Impndmt Kamke	earthen w/sign. Emb	252,720	cu. ft.	0.06	15,163.20	42,364.32 10	2 102.50	X	x	
		Stream Crossing - Krahn	culvert > 25" single	40	ft.	74.63	2,985.20			X		
		Tree Establishment - Vandenhuevel	machine, softwood	5	ac.	233.63	1,168.15			n/a		
			machine, hardwood	10	ac.	402.84	4,028.40			n/a		
		Tree Establishment - Nagel	machine, softwood	10	ac.	233.63	2,336.30			n/a		
			machine, hardwood	20	ac.	402.84	8,056.80			n/a		
		Tree Establishment - Larsen	machine, softwood	8.3	ac.	233.63	1,939.13			n/a		
			machine, hardwood	16.6	ac.	402.84	6,687.14			n/a		
	Brown County	Field Border - Orchard	grass/legume pol. mix	3	ac.	360.00	1,080.00	1,080.00	213.96	n/a	X	
								43,444.32			•	

Ho-Chunk	Leasum-Ward Jackson County	Forest Trails and Landings	reestablishment	15,840	ft	0.69	10,929.60	34,899.60		X	v	
		Forest Stand Improvement	crop tree release	239.7	ac	100.00	23,970.00		l	n/a	Х	
	Parmenter Jackson County	Access Road	raised earth, opt A	1120	ft	1.06	1,187.20	1,187.20		X	X	
	Whirling Thunder Monroe County	Pasture and Hayland Planting	cool season, existing	152.5	ac	60.57	9,236.93	10,190.93	-	n/a	v	
		Access Road	raised earth, opt A	900	ft	1.06	954.00			X	х	
	Billings Creek Vernon County	Streambank Protection	riprap, partial > 7'	120	ft	37.68	4,521.60	4,521.60		X	X	
	Kingsley Bend Columbia County	Brush Management	heavy	2.5	ac	350.00	875.00	3,643.60	n/a n/a	n/a	v	
		Tree Establishemnt	hand plated, hard/soft	5	ac	553.72	2,768.60			n/a	X	
								54,442.93				